Tablica RO2/+1

RO2/+1 - Oswietlenie

O. | Rodzaj odbiornika moc ilos¢ | moc suma
punktu
1 4 7 15 105
2 1 12 2 24
3 Istniejgce 15 55,5 833
4 LED 15 4,5 68
5 5 10 3 30
4 7 3 21
6 18 7 18 126
7 Istniejace 15 55,5 833
8 Istniejgce 15 55,5 833
9 18 7 18 126
10 LED 15 5,5 83
11 LED 15 5 75
12 LED 15 4 60
13 LED 15 4 60
14 LED 15 4 60
15 LED 15 12 180
16 1 12 6 72
17 LED 15 10,5 158
18 6 4 5 20
19 | Awaryjne 1 9 9
20 | Ewakuacyjne 0
razem 3773




RO2/+1 - Gniazda

mocC

O. | Rodzaj odbiornika | ilos¢ moc suma
obwodu
15 | Gniazda ogolne 1 2000 2 000
16 | Gniazda ogolne 1 2000 2 000
17 | Gniazda ogolne 1 2000 2 000
18 | Gniazda ogolne 1 2000 2 000
19 | Gniazda ogolne 1 2000 2 000
20 | Gniazda ogodlne 1 2000 2 000
21 Gniazda ogdlne 1 2000 2 000
22 | Gniazda ogodlne 1 2000 2 000
23 | Gniazda ogodlne 1 2000 2 000
razem 18 000
RO2/+1 - Technologia
O. | Rodzaj odbiornika | ilos¢ MOC 1 moc suma
obwodu
1 Kostkarka 1 3050 3 050
2 Zamrazarka 1 650 650
s1 Plyta indukcyjna 1 8000 | 8 000
3 Stot chtodniczy 1 450 450
4 Stét chtodniczy 1 450 450
s2 Ekspres 1 6000 6 000
5 Stét chtodniczy 1 450 450
6 Zamrazarka 1 650 650
7 Witryna 1 600 600
8 Witryna 1 600 600
9 Chiodziarka 1 450 450
10 Chtodziarka 1 450 450
11 Chiodziarka 1 450 450
12 Chtodziarka 1 450 450
13 | Chilodziarka 1 450 450
14 | Chilodziarka 1 450 450
razem 23 600




Razem RO2/+1
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Oswietlenie 3,8 1,00 3,8
Gniazda 18,0 0,20 3,6
Technologia 23,6 0,70 16,5
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